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1. a. A second-order filter has complex poles. The pole frequency is ωp  = 2 Mra/s, 

and the pole Q is Qp = 4. Find the group delay Tg(ω) at ω = ωp . 

     b. Find a simple estimation formula for Tg(ωp) for Qp >> 1. 

2. Find the transfer function H(s) = Vout(s)/Vin(s) of the circuit shown below. 

Assume R1/R2 = R3/R4 . 

 

3. a.  Find the transfer function H(s) = Vo(s)/Vin(s) of the circuit shown below. 

     b. Find a choice for the Yi  such that the circuit realizes a high-pass filter. 

 

 


